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1 105585754100376 Z=EH BFRIZERA AR5 T71E =k 70 46 66 80 262 BYRIZESEA ARG TIlE DFitI
2 105585754100518 FIER EREENEETR | A9AE EA=F 69 61 126 113 369 EREmERNFEETE Ra7mE
3 105585754100519 HFXE ERBEENESTRE | A97AE =k 75 72 96 112 355 ERBEEREETRE ARG TIE
4 105585754108294 FiR ERMEBKRTRE A5 TI1E £ B 69 69 134 116 388 SR BBRIRE K78
5 105585754108282 BEME ERMEBKTR RorTF1E =k 76 76 136 99 387 EMEBKTRE RorFME
6 105585754108298 =L SR BB TIRE A5 TI1E Eal=k 68 80 128 104 380 SR BKRIRE A3 TIE
7 105585754108283 TERF EREBKTRE R TF1E 28 68 65 129 115 377 SRBEIRE RG3TIE
8 105585754108314 BEN SERMEBEKTRE A TIE Ex=k] 71 85 113 108 377 SERBEIRE K738
9 105585754108310 FEREK AP SR EBETIRE R TF1E 28 72 76 120 102 370 SR BEIRE oy FME
10 105585754108299 BRI SR EBETRE A3 TIME Ex=k 65 75 135 91 366 ERBBRIRE A3 TIE
11 105585754108297 AR EREBKTRE R TF1E =kl 71 71 131 88 361 EMEBKETRE Ror7ME
12 105585754108304 ERLE ERMEBEKTRE R FE Ex=k] 72 76 107 106 361 EMREKRTRE A3 TIE
13 105585754108276 S EREBKTRE R TF1E =kl 69 67 125 95 356 EMEBKETRE RorFME
14 105585754108313 WIERH SERMEBEKTRE R FE Ex=k] 73 79 125 79 356 EMREKRTRE A3 TIE
15 105585754108311 kP IE EREBKTRE R TF1E =kl 76 92 93 92 353 EMEBKETRE RorFME
16 105585754108286 R SERMEKTRE AT Ex=k] 67 74 102 108 351 EMERTRE RHTIE
17 105585754108289 P ERMEBKTRE R FME Eal=k 62 78 113 94 347 ERBEIRE A3 TIE
18 105585754108269 XIFRT. SERMEKTRE AT Ex=k] 70 84 107 85 346 EMRERTRE R TiE
19 105585754108273 A ERMEBKTRE R FME Eal=k 71 71 129 75 346 ERBEIRE A3 TIE
20 105585754108272 T ERMEBETRE AT Ex=k] 70 66 119 89 344 ERERTRE A3 TIE
21 105585754108312 2= i Ak ERMEBKTRE R FME Eal=k 69 75 104 95 343 SR BEIRE A3 TIE
22 105585754108274 M SERMEKTRE AT Ex=k] 69 70 104 96 339 EMRERTRE R TIE
23 105585754108308 TIR%E ERMEBKTRE R FME Eal=k 72 77 100 89 338 ERBEIRE A3 TIE
24 105585754108296 BRI ERMEBETRE AT Ex=k] 68 71 98 99 336 ERERTRE A3 TIE
25 105585754108309 Ak ERMEBKRTRE R FTE Eal=k 69 66 93 93 321 ERBBIRE A3 TIE
26 105585754108280 L SEREETRE RorTi1E cx=k] 71 65 97 84 317 ERBEIRE RorT1E
27 105585754108321 1E ERMEBKRTRE AT =kl 73 74 107 62 316 EMEBKRTRE A3 TIE
28 105585754108284 R SEREETRE RorTi1E cx=k] 73 62 101 79 315 ERBEIRE RorT1E
29 105585754108307 ZEA ERMEBKRTRE AT Eal=k 69 79 102 64 314 SR BBIRE A3 TIE
30 105585754108285 B 1R EREETIRE A FiE ex=k 58 65 84 102 309 SERERTRE ARTiE
31 105585754108295 kAR ERMEBKRTRE R FME Eal=k 71 63 97 71 302 ERBBIRE A3 TIE
32 105585754108293 g E SRR TRE RorTi1E cx=k] 72 72 82 75 301 ERBEEIRE RorTME
33 105585754108319 EEL 1)) ERMEBKTRE R FE =kl 71 67 81 81 300 EMEBKRTRE A3 TIE
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